3 B ey F

ren

|

d and are to be used for reference only. Those using this d

. 3

soure and protected by edit restrictions

bie to ensure that this document marches the current revision maintained in digital format, within but » gingle

must tzke all

for

tes of this d

(4) HEX HD CONNECTION — |

BOLTS (SIZE PER CHART)
EACH W/ (1) FLAT WASHER,
POLE PLATE DRILLED AND

TAPPED.
4>—GV—

3 5/8" DIA WIRING e

HOLE IN POLE PLATE
CENTERED OVER 4°
DIA HOLE IN POLE
(DEBURR HOLE)

11/2° #8 1/2" BC

TIGHTENING USING TURN OF NUT METHQOD BY:
SPECIFICATION FOR STRUCTURAL JOINTS USING A325
OR A430 BOLTS, RESEARCH COUNCIL ON STRUCTURAL
CONNECTIONS 6/00

DIA OF LUM ARM + 1/8"

- _—(2) 1" DIA VENT HOLES IN
- BOTIOM PLATE & (4) 3/4"

DIA VENT HOLES IN POLE 1) BOLTS SHALL BE PLACED IN ALL HOLES WITH DRILL AND TAP (4)

WASHERS. COMPACTING THE JOINT TO THE SNUG TIGHT

HOLES IN POLE PLATE

CONDITION SHALL PROGRESS SYSTEMATICALLY. THE
SNUG-TIGHTENED CONDITION IS THE TIGHTNESS THAT IS
ATTAINED WITH A FEW IMPACTS OF AN IMPACT WRENCH

/2 .
¢V N\ FOR 3/4"-10 BOLTS

PPL

4
A7
o
S

APL OR THE FULL EFFORT OF AN IRONWORKER USING AN
ORDINARY SPUD WRENCH TO BRING THE CONNECTED APPLY SEAL
PLIES INTO FIRM CONTACT. CAULK CONE HELD
=" 1 2) FOR BOLT LENGTHS NOT MORE THAN 4 BOLT ON BY GRAVITY :
W Al
i SEE WELD DETAL \ \ DIAMETERS, WITH BOTH FACES NORMAL TO BOLT, 1/3
TURN PAST SNUG POINT. FOR ONE FACE SLOPED NO 3/16
t \ MORE THAN 1:20, 1/2 TURN PAST SNUG. FOR BOTH 1/
| "~ FACES SLOPED NO MORE THAN 1:20 FROM BOLT, 2/3
1R G\ TURN PAST LG 3/4" THICK PLATE
|
j i ><
L | < ™~—3' SCH 40 PIPE 7 GA> ==
I WIRING RACEWAY 3/16
$1/2" HOLE AT BOTTOM, \(c) THK GUSSETS

0D = INSIDE DIAMETER OF OF

POLE TUBE TOP MINUS 1/8"

3 GA>—,7$)1 77
TOP, BOTTOM, & SIDES

COVER HOLE WITH IRON

INSECT SCREEN

G 0.375 WL & 0 GA

| 18" 11GA CONE

—(4) 1" HOLES IN
ARM PLATE

1/8

S /- POLE EXTENSION
AT H

(2) 1/2" HOLES
IN POLE 12°
FROM PLATE

1/8

18" 11GA CONE

/ - (2) #1/2" HOLES
/ IN PLATE

Office

5/16 ™S ok pLaTe
(4) 3/4" BOLTS W/
MAST_ARM CONNECTION DETAIL 1" THICK PLATE (1) FLAT WASHER /4
PER BOLT
POLE BASE PLATE . >
=1 |
- B
ri"] Fh ! g (FOR 30' LUM MTG HGT) (FOR 35", 40" & 50' LUM MTG HCT)
sy o
(4) (CHARTED) DIA. GALV: “L — 4
A. BOLTS W/ (6) HEAVY 2
. . HEX NUTS & (6) FLAT o
46 1/2" HANDHOLE —| @ 3716 -~
g WASHERS PER A. BOLT I E | T~
L1 .y 6" G
WELD DETALL L e P \ 1.5t
1 it PLATE 0.D. EQUALS B.C. + 4" ‘ te 73”/3'5 WFAU- ;“'CKNESS
| . 16 FOR 7 GA
o %’ 1 B e R % CENTER HOLE DIA \ / A\ 51//146 F0R 0 G4
J 1l 20 T ] PLATES PER POLE. BC. TO \\ (BOLT GIRGLE - 4) e 7 VA B N
TOP OF ROUGH \_ MATCH POLE BASE PLATE BACK-UP RING = |="1/2" uin
FOUNDATION SEE ANCHOR BOLT T :
CONFIGURATION Q
BASE_ CONNECTION DETAL HOLE DA = ANCHOR POLE BASE (PER CHART) & ARM
BOLT DIA. + 1/8"
90 _ ; ANCHOR BOLT CONFIGURATION
HOLE ¢ = BOLT ¢ + 1/4 (SHIPPED UNASSEMBLED) PROJECT INFORMATION
T— (REF. B100-A354) PROJECT:
COUNTY:
S F 0 180° € 4X6 1/2 HHF CITY:
l REQ:
. ot STATE: _WASHINGTON | reag / sop : 0873-07-1 Rev | TDESCRIPTION (o8 LG |C 0ATE [y o
270 R2" PROJECT NAME: WASHINGTON DOT STANDARDS REVISIONS /-27~-20)4

NGTON DOT

TYPE Il STEEL COMBINATION TRAFFIC & STREET LIGHTING POLES, TYPE 1 LUM. ARM
STATE OF WASHI

. o B This document and the contents herein are proprietary and the property of |DESIGNED BY [CHECKED BY DATE SCALE ENG REF
1 / 22 / 20 14 Union Metal Corporation. This document is not to be_. copied, reproduced,
. or used for any reason except for the purposes which it was issued without LCV 3 74 3/ 4/ 03 NTS 71026-B35
EXPII' es 1 1/ 1 7/ 2014 Uni Metal the express written consent of Union Metal Corporation. Furthermore REVISION SHEET
nion elg Union Metal Corporation reserves the nght to recall this document and ali
Corporation  |copicsatany tme for any resson /1026—B87/ R13 | 30r3
A ! B ' c ! D T E * F ‘ G ! H



